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Name: Date:
Use the bar graph to answer the questions.
Find the total number of Cars manufactured in
May and July?
9000 I
8000 -
T 7000 - 2) Suppose 2000 more Cars manufactured in June,
e How many Cars would manufactured in that month?
5 6000 N '
& 5000 H
= 4000 - - 3) In May, Cars manufactured 1000 fewer than in
g 3000 - - August. How many Cars did they manufacture in May?,
g y y y
= 2000 A NN N
S 1000 NS N
May June July August 4) How many more Cars were manufactured in
Months August than in June?
1 How many more Crows than Nightingales did
Peacock -.- Anna see?
C
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° 2)  How many Sparrows did the Anna see?
= searrow [ NI
o
wn
(5]
N Parrots ---- 3) Were there fewer Parrots on the tree than the
= Peacocks?

Nightingale -

17 34 51 68 85 102 119
Birds came across tree 4)

Anna saw the birds those came across the tree.

How many less Parrots than Crows did come
across the tree?

Images drawn
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Emilia  Robert Jessica
Names of children 4)

Are there any two children that are drawn the
same number of images? Who are they?

Who had drawn the more images?

Write the names that have drawn less than 96
images.

How many more images will Emilia need to draw to
be equal with number of images drawn by Jessica?
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Name: Date:
Use the bar graph to answer the questions.
Find the total number of Cars manufactured in
May and July?
9000 I 11000
8000 -
= Suppose 2000 more Cars manufactured in June,
g 7000 I 2) > 5 e -
E 6000 - ow many Cars would manufactured in that month?
g 5000 I 7000
=
£ 4000 - - 3) In May, Cars manufactured 1000 fewer than in
g 3000 - - August. How many Cars did they manufacture in May?
= 2000 NN NN N 6000
S 1000 NS N
May June July August 4) How many more Cars were manufactured in
Months August than in June?
2000
1 How many more Crows than Nightingales did
Peacock ..- Anna see?
68
. oo [ NN
° 2)  How many Sparrows did the Anna see?
= searow [ NI
S 119
wn
(5]
N Parrots ---- 3) Were there fewer Parrots on the tree than the
= . Peacocks?
Nightingale No
17 34 51 68 85 102 119
Birds came across tree 4) How many less Parrots than Crows did come
across the tree?
Anna saw the birds those came across the tree. 17
1) Are there any two children that are drawn the
- same number of images? Who are they?
e Yes, John and Robert
% B 2)  Who had drawn the more images?
= - .
.= essica
: . :
o0 - 3) Write the names that have drawn less than 96
E N images.
- John, Robert and Emilia
John Emilia  Robert Jessica
Names of children 4) How many more images will Emilia need to draw to

be equal with number of images drawn by Jessica?
72
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